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PECTROSCOPY - analysis of a sample vay of interaction with electromagnetic

SPECTROMETRY - quantitative determination of a sample by way of interaction wit
lectromagnetic radiation
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The relationship between the CONCENTRATION and the ABSORBANCE (for dilute solutions) i
LINEAR. (Transmittance is NOT linearly related to concentration!)
[N = Absorbance
L}
N —CH(C. - .
N\ — C, = molar absorptivity
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In'a typical UV/VIS spectrometer, the path length (b) is 1.0 cm, but this may vary with the

vette used.
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nce of MOLECULES in the flame whose absorption overlaps the
 are frying to measure may reduce sensitivity by creating a hi
sorptior
“than absorbing molecules?
S and AAS generally use the line spectra of the ATOMS for
lons also produce spectra, but their lines are different tha
analvte. ther fore ¢ RFDULCFEF SENSITIVVITY
Al I‘YI. 3 Y RAYI RV AV ] | - y wval | B =i =5 | - | - | || A2 I 1 |
the flame, the more energetic itlis - and the more likely!i
e analyte.
Ve need to have a flame that is hot enough to atomize (
nalyte, but not so hot as to ionize the analyte!
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